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VI Semester B.Com. Examination, September 2020
(CBCS (F+R) Scheme) (2017-18 and Onwards)
COMMERCE
Paper — 6.5 : Business Taxation (Elective Paper — lil)

Time : 3 Hours Max. Marks : 70

Instruction : Answers should be written either in English or in
Kannada.

SECTION — A
QLN - R

Answer any five sub-questions. Each sub-question carries two marks. (5%x2=10)
IR TRTTR T LOXBINT GVZ0R. BS NWTTIT TR BOBNTO.
1. a) What is E-filing ?

B3~ OON 0TI ?

b) Define customs port.
E5E30T0 LOTTO DOTTERD ?

c) Expand PAN and CIF.
PAN 583 CIFas3ngsd 508,
d) Mention advantages of partnership firm.

TROOTOOTD ﬁof-—"gboda @;bm@éﬁaﬁ;ig{ 893

e) What is an Indian company ?
2500800 FOTR DOTTERD ?

f) What is a block of assets ?
ST N0 ROTTERD ?

g) Who is a working partner ?
FONFATS TEITIT 0TS OINTO ?

P.T.O.
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SECTION - B
PR~ W

Answer any three questions. Each question carries six marks. (3x6=18)
SRR WA BINTT YUB0R. BB TIT SH OB,
2. On 1-4-2018 opening WDV of a block of assets having machines X and Y was

Rs. 8.00,000. During the month of April, 2018 a new machine Z was purchased

for Rs. 6,00,000 and put to use on 15-4-2018. A part of machine Y valued at
Rs. 40,000 was sold for Rs. 60,000 on 1-2-2019.

Calculate the closing WDV when the rate of depreciation is 15% considering it
as a manufacturing company. -

X 3033 Y 0dognd &3 RO LT0RE w0, 1-4-2018 S0z dr. 8,00,000. HT°
20186@'3m BRA O:'Do% £ Eﬂid@ 6,00,000 nor DO @Cﬁ?f@{15-4~20180’0633
2033e STOWREPOHIB). T, 40,000 a:b’ae)étﬁ Y o308 apaﬁdpodd}d dr. 60,0008,
1-2-201980% RRTo230.

238003 T30 3633 15 308 208330 WDV 030, 30ti&0000. ﬁofé-)m 2073 BCIR0TD
FOTQOTRNG.

3. Explain the objectives of customs duty.
SRR BIOBE LUTEBNT, QWOR. |

4. According to Income Tax Act advise an assessee about admissibility or otherwise
of the following while computing income from business.
i) Commission of Rs. 40,000 paid to procure orders for the business.
ii) Loss due to embezzlement by an employee.
iif) Cash expenditure of Rs. 34,000.
iv) Interest on loan taken to pay income tax.
v) Discount allowed for prompt payment of dues.
vi) Penalty for importing prohibited goods.

Clanlowwkcieljlovel:plovsiory TR0 dﬁd'@d&cd 200053 STROIDIY BOTIEBCITON B3
FING TRV A8 W @R DWFTTe ROUWTIR SPA.
i) ﬁzsd&adﬁ%ﬁ 0D efﬁ@odﬁ% FRECHD TBSAT Faoms® 3R. 40,000
i) m%o@oa:odeﬁe SBB Beas BOBOTOdeEn
iii) SR> ARV 2o 8. 34,000
iv) sl 3on éé&w BREBR0E MOT W0 W&,
V) TR 0O TSI RRO0DTA JeBT BoITROWS.
vi) 23 SRNEY ST BRREFTN TORSAT TOR.
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5. X, Y and Z are partners in a firm sharing profits and losses in the ratio 1 : 2 : 3.
Profits of the firm for the year ended on 31-3-2019 was Rs. 1,31,800 after
considering the following items to P and L Account.

i) Salary to partners :
X : Rs. 1,30,000 and Y : Rs. 1,20,000
ii) Interest on capital at 20%
X : Rs. 3,500, Y : Rs. 14,000; Z : Rs. 10,500
i) Commission to partners :
X :Rs. 5,000, Y : Rs. 12,500, Z : Rs. 17,500
Compute the allowable remuneration of the partners.
X, Y 3323 Z 2o edtesol 33y oo SRNTEd 11 2 1 3 Homnnd ®owtes)dmad

o

31-3-20193, S3nno® IRFT qujeiwszzp’ 3YNT oBNYTY TONBAT ToST
g». 1,31,800.
i) TRORTT I3
X: 8. 1,30,000 =08) Y : dw. 1,20,000
ii) 200@eds E0edT L& FevE 20 T2 : X : de. 3,500, Y : Te. 14,000;
Z : 8. 10,500
iii) oe0TRTR eBT TR : X 1 dw. 5,000, Y : dr. 12,500, Z : dn. 17,500

TROITOTON BRTELTOT ROLRRICIT FoR&EEAD.

o 8

6. Mr. Prashanth estimated the following incomes relevant for the assessment
year 2019-20.

a) Computed income from house property : Rs. 1,40,000

b) Computed income from business : Rs. 8,60,000.

Calculate advance tax payable.

© BZ003 TIT AY 2019-208, SotnRITRTEERT ST DN B0,
a) SFoD 73T =57, srwob (ForLET) Te. 1,40,000

b) HEETHT 20T STROD (ForEEw) Tr. 8,60,000

TRTSRIICTOT TVONE 520 é@ﬁ:ﬁ:?ﬁi FOTOREROO.

SL
(&
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SECTION-C
QN - A

Answer any three questions. Each question carries fourteen marks. (3x14=42)
CIRTYTRTHOR TRD FINTN GUB0R. B T BOTOLY, 0BT,

7. Adithya Ltd., showed a profit of Rs. 3,35,000 during 2018-19 scrutiny of accounts
revealed the following :

a) Donation to an approved charitable trust by cheque Rs. 20,000
b) Provision for Income Tax Rs. 1,00,000
c) Family planning expenses (Revenue) Rs. 25,000
d) Capital expenditure Rs. 1,00,000
e) Bad debts allowed earlier recovered during year Rs. 10,000
f) Interest on bank deposits Rs. 30,000
g) L.T.C. gain Rs. 1,00,000
h) Debenture interest from another company (Gross) Rs. 20,000.
Additional information :
i) Unabsorbed depreciation Rs. 30,000 and
i) Unabsorbed long term capital loss of Rs. 40,000, brought forward from the
earlier years.
Compute total income of the company for the AY 2019-20.
2018-1938 &=F g, RO2OHATOS BT, DE0ES RIS a3 Br. 3,35,000 =3.
5, BN SR S 3990R 08I LTONBRAT
a) =BRDT ﬁem#oﬁ@ﬁ Zeedrs dr. 20,000
b) swood 3onn daaa;ems-cga ow. 1,00,000
C) BOEDOW ﬁexggsa ﬁzsa’j ( 6@5@;) gdn. 25,000
d) wotdmed &3¢ de. 1,00,000
8) 5008 BRFNTE BROBIERTT TR B3 BRE TRTRD WodT Te. 10,000
f) e o5 Beedne Soedd W& de. 30,000
g) QERFTOLS LoBF Lol Tre. 1,00,000
h) ®lo3o s Baed 0@ de. 20,000 (Gross)

233 BN :
i) BRoOREONT Aeswod Hee dw. 30,000
ii) BRQBRNS DeFFF =G LoRHY SR aR. 40,000 (%ooéﬁd BRFNPOT FoTT), )

BOTVOD 2830, @tsao'toﬁa’gt IO Tew 3w 2019-203, BOTBIZERCAD.
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8. A, B and C are partners in a firm sharing profits and losses in the ratlo 2 .25
respectively. Their P/L A/c was as follow :

Profit and Loss A/c for the year ended 31-3-2019

Rs. Rs.
To office expenses 3,12,000 By Gross Profit 9,16,400
To Interest on By Interest on
capital in excess of Non-Govt. securities
specified limit (Gross) 20,000
A : Rs. 2,000 By LTC gain 40,000
B : Rs. 1,000
C : Rs. 1,000 4,000
To Salary to B 1,44,000
To Commission to C 72,000
To Net profit 4,44,400
9,76,400 9,76,400
Compute total income of the firm and tax payable by the firm.
A, B 2023 C T020mesd @moedtmds FoZ00 ooy 5@7@5&2{ 2:2:1 930309,
ﬁoﬁm%%d 31-3-20193 gnadrinoa RmeT =0 RYTH, 008 08T,
SRIAERSES
n SHR. "aod SR.
Fe3ed Drned 3,12,000 :i%:, 23 9,16,400
0BT 0T JsorTe30
WG (ANDE Q08 BR,083N 00T W,
é)oe@d% ) ( :3.%:,) 20,000
A : dn. 2,000 LTCG 40,000
B: dr. 1,000
C : dn. 1,000 4,000
B3 ¢33 o r e ls44.000
CA saoan® 72,000
¢ oy 4,44,400
9,76,400 9,76,400

ﬁofé)oda 2,830 STHOD da?o_p TRERICTIT STROID é@ﬁcd:a’gt BoTROREBCD.
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9. From the following details compute TDS amount for each transaction.

Rs.

a) Winnings from lottery (Gross) 90,000

b) Real estate brokerage 24,000

¢) LIC maturity amount on policy 6,00,000
d) Advance received for sale of a building

(sale value Rs. 80 lakh) 30,00,000

e) Agricultural land sale for Rs. 60,00,000 advance received 20,00,000

f) Building rent paid to owner 56,000 p.m.

g) Interest on securities (Gross) 36,000

3800 ORINY S0eS TDS BRBBI, T 0w 307N BoRELEOND.

o.
a) CRLOOD NeOR ::i.%@ B 90,000
b) DoE® AL BT 24,000

c) LIC c200T3 2000 201088 &6 6,00,000
d) é&gjzéd aimca&séé TI0ONTE HED (mm&d dfa@?: gn. 80 @i) 30,00,000
e) afgsdmofod 23RN0 moa&sﬁﬁ, ASPIOTATE]

(Fmoons =R, 3e. 60,00,000) 20,00,000
f) FuREc wan TR Sordrcdy ' 56,000
g) ABROWNY e wE (Rre) 36,000

10. Maruthi industries imported a machine for 10,000 dollars from USA. From the
following information calculate assessable value and customs duty payable.

a) Packing charges 240 dollars
b) Design and development charges 600 dollars
¢) Insurance 100 dollars
d) Freight charges through air 320 dollars
e) Commission paid to a broker who arranged the transaction 200 dollars
f) Exchange rate specified by board one dollar = Rs. 70
q) Basic customers duty 10%
h) IGST @ 18%
i) Social welfare cess applicabie at 10% on BCD.
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DBRTIE faoc:g;-’owe:o"ﬁ 10,000 oo ny wﬁf@;jd ojao%we‘jgt 0300, RFF. . DOTI- 50
TRBT. FFFoT DWTNG S0e8R BONRAYZERLTIE :53‘3% m@g eST30T0 wc%a:f&,
FOTBIEE OO,

a) 3o 33, 240 WOTTE

o

) ufsa,u OB L) fales 5525 600 oo N
) Qe a3 100 meoeneh
d) oS 53( 0K 320 TR

o

e) =TT BITOTLD NFoLIN éjaés Fe: 200 meTTned

TR B30 e 10%
IGST 18%
TTRET BR,£9 357 (SWC) Boee 5w 23088 soees Je. 10303 9,09,

g

)
) &
f) & wdooja 00 WreEs N3 1 @0 = dR. 70
)
h)
)

11. Following is the P and L A/c of Skanda Lid., and Indian Co., for the year ended
31-3-2019.

Profit and Loss Account

Rs. Rs.

Salaries and wages 1,50,000 " Gross profit 5,00,000
Advertisement exp. 30,000
Insurance 50,000
* Penalty 10,000
Depreciation 20,000
Income tax 6,000
Transfer to gen. reserve 8,000
Office exp. 3,000
Loss of subsidiary company 5,000
Net profit 2,18,000

5,00,000 5,00,000
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Additional information :

a) Brought forward loss as per books of accounts is Rs. 25,000 and as per
income tax is Rs. 30,000

b) Unabsorbed depreciation as per books of accounts amount to Rs. 5,000
and as per Income Tax Rs. 15,000

c) Depreciation as per IT Rules Rs. 30,000

Compute : \

1) Total income of the company under normal provisions and normal tax.

2) Book profits and tax liability as per section 115-JB.

3) Tax liability of the company ultimately.

:q;od Ooein's 31-3-201 95; BRIRAE IRFT em;’;ﬁ% 23230300 B3 068 BT

TITR 8398
3R, oR.

BT 08 5RO 1,560,000 RRAY Ry 5,00,000
20D 323, 30,000 |
AR ﬁa‘a;d 50,000
wlelr] 10,000
N 20,000
S0 3ON 6,000
@m% OR IRrRs 8,000
Be3eD 38, 3,000
ea0Mn ::’oﬁ@o:b SR, 5,000
39 Y 2,18,000

5,00,000 5,00,000

23T R :

a) %008 BREOOT PFIT BFOT 30T FRBIOT HHE 268 dr. 25,000 3083 STROD
ort B3 d. 30,000.

b) BRODELANG R PFINE TFT . 5,000 3023 &TOH 301 50
dw. 15,000.

c) ©T003 3R e TF2T NeIewod0 ge. 30,000.

FoT%BON0 :

1) @5 DODFONTBCIE, BOTIIOI 23, BT
2) 115-JB Zzo0 PR3 0oy 3308y 307 wemtR0

3) e908:3%mN FoR0D SON wWeLRD.




